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* CHAPTER ONE *

AN OVERVIEW OF FEDERAL TAXATION

SOLUTIONS TO PROBLEM MATERIALS

DISCUSSION QUESTIONS

1-1

1-2

A tax base is the amount upon which a tax is levied. The tax base for the Federal income tax is called “taxable
income” and is the taxpayer’s total income less exclusions, deductions, and exemptions that might be available
to the taxpayer. (See Exhibits 1-3, 1-4, and 1-5 and pp. 1-11 through 1-17.)

The tax base for the Federal estate tax is called “total taxable transfers” and is computed as follows:

Gross Estate, less the sum of

* Expenses, indebtedness, and taxes;
* Losses;

* Charitable bequests; and

® Marital deduction

Equals: Taxable estate
Add: Taxable gifts made after December 31, 1976
Equals: Total taxable transfers.

The tax base for the Federal gift tax is called “taxable transfers to date” and is computed as follows:

Fair market value of all gifts made in the current year, less the following:

* Annual exclusions ($13,000 per donee in 2009),
® Marital deduction, and
¢ Charitable deductions

Equals: Taxable gifts for the current year
Add: All taxable gifts made in prior years
Equals: Taxable transfers to date.

(See Exhibit 1-5 and pp. 1-16 through 1-17.)

A proportional tax rate is one that is a constant percentage regardless of the size of the tax base (i.e., as the
base changes the rate remains the same). (See Example 6 and p. 1-7.) A progressive tax structure is one in
which a higher percentage rate is applied to increasing increments of the tax base [i.e., as the base
increases (decreases) the rate increases (decreases)]. (See Example 7 and p. 1-7.)

A marginal tax rate of any rate structure is that percentage at which the next dollar added to the tax base
will be taxed. In a proportional tax rate structure, the marginal tax rate remains the same through all levels of
taxation. The tax impact of an additional dollar of income remains the same through all levels of taxation. In
a progressive tax structure, the marginal tax rate increases as the level of taxable income increases. The tax
impact of an additional dollar of income or deduction varies as the level of taxable income varies and thus the
total tax rate is determined by the level of income which is taxed. However, in both cases, the tax impact of an
additional dollar of income or an additional deduction can be determined. (See Example 8 and p. 1-8.)

In the technical sense (i.e., in terms of the definitions of proportional and regressive rate structures), the

media have reached an erroneous conclusion. However, when the nature of these taxes is considered
relative to the taxpayer’s ability to pay, the media is correct.
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According to the technical definition, a regressive tax rate structure is one where the rate decreases
(increases) as the base increases (decreases). In contrast, in a proportional tax rate structure, the rate is a
constant percentage of the base. In the technical sense, both sales taxes and social security taxes are
proportional taxes because the rate is always the same regardless of the size of the base. This is because
the tax rates are defined in terms of the base on which they are levied.

Relative to the taxpayer’s ability to pay, however, proportional taxes are regressive. For example, as
the taxpayer’s ability to pay grows or his income rises, the taxpayer’s total sales taxes becomes a smaller
percentage of income. Because the rate becomes smaller as the criterion for paying increases, the tax is
regressive. (See p. 1-7.)

A deduction is a reduction in the gross (total) amount that must be included in the taxable base. A tax
credit is a dollar for dollar offset against a tax liability. (See Examples 3 and 12 and pp. 1-6 through 1-11.)

The value of a deduction is a function of the taxpayer’s marginal tax rate. For example, if a deduction
equals $1,000 for a taxpayer in the 28 percent bracket, the value of that deduction would be $1,000 x 28%
or $280. The $280 is the amount of tax that would be saved by using the $1,000 deduction. The value of a
credit, on the other hand, is the full value of the amount of the credit (e.g., a $1,000 credit will save the
taxpayer $1,000). (See Examples 9 and 12 and pp. 1-9 and 1-11.)

Accordingly, if the taxpayer is faced with a choice between a deduction and a credit, he must use his
marginal tax bracket to determine the relative worth of the two amounts. If, for example, the taxpayer is
choosing between a $1,000 deduction or a credit of 20 percent of the $1,000 expenditure, and assuming he
is in the 28 percent bracket, he would go through the following analysis:

Value of the credit: 20% x $1,000 = $200
Value of the deduction: 28% (marginal tax rate) x $1,000 = $280
In this case, the taxpayer would choose the $280 deduction over the $200 credit.

Significant differences between computing a corporation’s taxable income and computing an individual’s
taxable income include the following:

® Only individual taxpayers have deductions “for” adjusted gross income. Corporations simply
compute gross income and then reduce it with allowable deductions to compute taxable income.

® Only individual taxpayers have a standard deduction or itemized deductions.

* Only individual taxpayers have personal and dependency exemptions.

(Compare Exhibits 1-2 and 1-3, on p. 12.)

The principal reason that Congress continues the pay-as-you-go requirement is that many individuals
probably would not control their expenditures well enough to have enough money left to pay their taxes at
the end of the year. Such individuals would spend their money and have none left with which to pay tax.
Additionally, this requirement smooths out the receipt of revenues to the Federal government and allows it
to plan for its own cash flow needs. (See p. 1-11.)

The marital deduction is the deduction allowed for gift and estate tax purposes for amounts transferred by
one spouse to the other spouse. The amount of the deduction is unlimited. In other words, one spouse may
transfer an unlimited amount of property to the other spouse either by gift or, after death, through the
estate and pay no tax on the transferred amount. (See p. 1-15.)

The estate tax credit is used to offset up to $1,455,800 of the estate taxes (2009), the equivalent of a
$3.5 million taxable estate. (See Example 13 and pp. 1-15 and 1-16.)
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The annual Federal gift tax exclusion is $13,000 per donee in 2009. A married individual may elect to join
with his or her spouse in making gifts, and thus, husband and wife together have a $26,000 annual
exclusion per donee in 2009. (See Examples 15 and 17 and pp. 1-16 through 1-17.)

Excluding consideration of the unified credit, a widow interested in making gifts to her daughter and
seven grandchildren may make a $13,000 gift to each of them tax-free. Thus, $104,000 of gifts (8 donees x
$13,000) could be made annually without a gift tax.

The gift-splitting election is a means whereby a husband and wife may elect to treat /> of the gifts made by
one spouse as if made by the other spouse (i.e., split gifts between them) even though the property donated
is owned by only one of the spouses. Through the gift-splitting election, the spouses may make use of two
annual exclusions and two lifetime applicable credit amounts in order to reduce their gift tax liability.
(See Example 19, p. 1-18.)

For many purposes, a married couple is considered to be one taxpaying unit. For this reason,
Congress allowed a married couple to file a joint income tax return; through that they split their income
regardless of which spouse actually earned it. In this way, a higher-bracket spouse’s income is split with
a lower-bracket spouse, and thus the marginal impact of the tax rates is reduced. Similarly, with the gift-
splitting election, the husband and wife are considered to be one taxpaying unit and thus are able to share
their gift giving. Note, however, that there are no joint gift tax returns (like income tax returns).

An estate tax is a tax on the right to transfer property, whereas an inheritance tax is a tax on the right to
receive property at death. An estate tax is imposed upon the decedent’s estate, whereas an inheritance tax is
imposed on the heirs on the receipt of property from an estate. The major difference is that the estate tax rate
is applied to the entire estate, while inheritance tax rates are applied to the amounts received by the heirs and
such rates vary depending on the relationship between the decedent and the heir. (See pp. 1-18 and 1-19.)

The FICA tax is imposed on both an employee and his employer if the employee is eligible for Social
Security benefits. The Federal unemployment tax, FUTA, is imposed on employers who pay wages of $1,500
or more during any calendar quarter in the calendar year, or who employ at least one individual on each of
some 20 days during the calendar year or previous year. The purpose of the FICA tax is to fund the Social
Security system. The purpose of the FUTA tax is to fund unemployment benefit programs of the states.

With respect to FICA, both employees and the employer bear the burden of the tax equally. With
respect to FUTA, only the employer pays this tax. (See pp. 1-19 through 1-24.)

The maximum FUTA tax is 6.2% x $7,000, or $434 per employee, per year. If the employer has three
employees, then his FUTA payment is 3 x $434, or $1,302. The maximum FUTA tax credit allowed
against an employer’s FUTA tax liability for any similar tax paid to a state is currently 5.4 percent of the
covered wages or a maximum of $378 ($7,000 x 5.4%) per employee. Hence, in this case, the credit for
FUTA taxes paid to the state would be a maximum of $378 x 3, or $1,134. Therefore, the amount of
FUTA taxes paid to the Federal government would be $168 ($1,302 — $1,134 = $168). (See p. 1-24.)

A sales tax is a tax imposed on the gross receipts from the retail sale of tangible personal property and
certain services. A use tax is a tax imposed on the use within a state or local jurisdiction of tangible
property on which a sales tax was not paid. The tax rate of the use tax normally equals that of the taxing
authority’s sales tax. (See p. 1-26.)

The purchaser might simply go to the neighboring state and purchase an auto there. Thus, the purchaser
would avoid state A’s high sales tax. State A might discourage this plan by enacting a use tax on the auto equal
to the sales tax in state A. Thus, there would be no advantage to traveling to state B to purchase the car.

a. The term “tax expenditure” refers to the estimated amount of revenue lost for failing to tax a
particular item, for granting a certain deduction, or for allowing a credit. In effect, the term refers to
the amount that would have been spent had the government subsidized or financed the activity
through direct payments rather than indirectly through a reduction of the taxpayer’s tax liability. For
example, the purchase of business machinery, an activity which Congress has chosen to favor because
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it is believed such expenditure results in growth in the national economy, is rewarded through
depreciation deductions. Almost always, tax incentives come about because Congress is interested in
favoring a particular type of activity and has decided to reward those who engage in this activity with
favorable tax treatment. (See pp. 1-27 and 1-28.)

Some have argued that tax incentives lead to waste, inefficiency, and inequity, while proponents of
tax incentives take the opposite view. A brief description and discussion of some of the pros and cons
of tax expenditures vis-a-vis direct expenditures are presented below. [These were derived from
Surrey’s “Tax Incentives as a Device for Implementing Government Policy: A Comparison with
Direct Government Expenditures,” 83 Harvard Law Review 705 (1970). A more complete discussion
can be found in that article.]

* Tax incentives are often seen as clear-cut; they involve far less governmental supervision and
detail. Proponents argue that there is an existing system (i.e., the tax system) that enables easy
implementation without the need to set up additional bureaucracy. Surrey argues that this is not
true.

* Tax incentives are often urged on the ground that the particular problem is great, and that the
government must assist in its solution by enlisting the participation of the private business (e.g.,
enacting a jobs credit will enlist the aid of business to solve the problem of unemployment).
According to Surrey, this in itself does not lead to the conclusion that tax incentives should be
used rather than a direct expenditure.

* Proponents of tax incentives believe that they promote private decision making, rather than
government-centered decision making, which inevitably leads to greater success in achieving the
government’s objective.

* It is generally argued that tax incentives are inequitable, since they are worth more to the high-
income taxpayer than to the low-income taxpayer, and they do not benefit those who are outside
the tax system because their incomes are low, they have losses, or they are exempt from tax. This
criticism is often valid as to the general type of tax incentives.

* One argument states that tax incentives, by dividing the consideration and administration of
government programs, confuse and complicate that consideration in Congress, in Administration,
and in the budget process.

* Opponents of tax incentives argue that incentives keep tax rates higher by reducing the tax base
and thus, lead to reduced revenues.

(See pp. 1-27 through 1-31.)

1.

That the fairest tax is one that someone else must pay is obviously a facetious statement, but no doubt
some taxpayers adopt this maxim. The fairest tax system is one that treats all persons who are in the
same economic situation in the same fashion. Accordingly, a tax system that fails to tax one individual
and taxes another who is in exactly the same economic situation is treating both individuals unfairly.
(See pp. 1-26 through 1-31.)

The benefits one obtains from paying taxes are difficult to trace or measure, and to use such criteria to
measure the tax rate of a particular individual would introduce immense complication into the process.
Generally speaking, one pays taxes in order to support a system of government that works for the
public good and expends in order to promote the commonwealth. Although certain individuals may
benefit indirectly from these expenditures (e.g., a motel owner by construction of a new highway), the
expenditures as a whole are used for a public good and not to serve private purposes. (See pp. 1-27
through 1-28.)
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3.

A head tax does not take into account the different economic circumstances in which various
individuals find themselves and thus would refuse to differentiate among individuals based on their
ability to pay. A canon of an equitable tax system has always been that ability to pay should
differentiate among taxpayers so that those who could pay more would pay more. Nevertheless, a head
tax would meet the other criteria: it would be certain and not arbitrary, low, and definitely difficult to
avoid. (See pp. 1-29 through 1-31.)

The use of the governmental printing press to finance operations has been used in many countries and
is still used in some countries. If done on a large scale, the currency is rapidly depreciated and all
money loses its value. All savings would depreciate and only those assets that hold their value in
inflationary times (e.g., real property) would be worth having. Financial assets would rapidly become
worthless. (See pp. 1-27 through 1-31.)

1-17  Assuming marginal rates are 25 percent in 2009 and 15 percent in 2010, the value of a deduction is the
dollar value of that deduction multiplied by the taxpayer’s marginal tax rate. In this case, the value of the
$1,000 deduction in 2009 is $250 ($1,000 x 25%) and the value of the same deduction in 2010 is $150
($1,000 x 15%), so T could expect a tax savings of $100 ($250 — $150). Whether it is possible to
accelerate the deduction is a question pursued in later chapters. (See Example 9 and p. 1-9.)

1-18

1-19

a.

)

A “given dollar amount” is the cumulative sum of the taxes determined for each previous bracket of
income. The tax for each bracket amount of income is determined by multiplying the marginal rate by
the bracket amount of income. The 2009 tax rate schedule for single taxpayers and the derivation of the
“given” amounts are shown below.

Taxable Income % on Of the
Over But Not Over Pay + Excess amount over
$ 0 $ 8,350 0.00 10% $ 0
8,350 33,950 835 15% 8,350
33,950 82,250 4,675 25% 33,950
82,250 171,550 16,750 28% 82,250
171,550 372,950 41,754 33% 171,550
372,950 108,216 35% 372,950
Bracket Spread Rate Amount Cumulative
$ 0 $ 8,350 $ 8,350 10% $ 835 $ 835
8,350 33,950 25,600 15 3,840 4,675
33,950 82,250 48,300 25 12,075 16,750
82,250 171,550 89,300 28 25,004 41,754
171,550 372,950 201,440 33 66,462 108,216

The tax using the 2009 rate schedule is $8,687.50 ($4,675 + [25% x ($50,000 — $33,950 = $16,050)
= $4,012.50]).

The marginal tax rate is 25 percent. (See Examples 8 and 9, pp. 1-8 and 1-9.)

The average tax rate is 17.4 percent (tax $8,687.50 = taxable income of $50,000). (See Example 10, p. 1-9.)
The effective tax rate is 10.8 percent [tax $8,687.50 = economic income of $80,000 ($50,000 taxable
income + $30,000 tax-exempt income)]. (See Example 11, p. 1-9.)

There are two concepts of tax equity to be used in evaluating the fairness of any tax: vertical and
horizontal equity. Horizontal equity is deemed to exist when taxpayers in similar situations pay
similar taxes. Vertical equity exists when taxpayers with more ability to pay in fact pay relatively
more tax than taxpayers with less ability to pay. If a taxpayer’s means to pay is adequately captured
by his or her taxable income, then one could easily conclude that this tax is fair, since taxpayers in the
same situation (here, the same taxable income) pay identical taxes. Many would argue, however, that
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taxable income is not a good proxy for a taxpayer’s ability to pay, and no conclusion could be made
concerning the fairness of this tax. These persons might argue that the tax does not take into account
the cost of living, which might differ according to location, or a particular disability that the taxpayer
or his family may have.

No statements can be made with respect to vertical equity because no information is provided
regarding how taxpayers in different situations are treated. (See pp. 1-29 and 1-30.)

b. As noted above, vertical equity implies that taxpayers with more ability to pay in fact pay relatively
more tax than those with less ability to pay. Although S pays absolutely more tax in this case—$2,000
versus $1,000—he does not pay relatively more. Both R and S pay tax equal to 5 percent of their taxable
income. Thus, most would argue that the tax is inequitable. Of course, this argument holds true only to
the extent that taxable income is a good surrogate for ability to pay. (See pp. 1-29 and 1-30.)

Property taxes may be subject to the “fairness” argument on any number of grounds. Most of the time
commentators assert that fairness is a function of ability to pay and property taxes may fail because they
are not linked to ability to pay the tax. In the context of property taxes, homeowners find that they may
own less property than a neighbor or have a less desirable house but nonetheless their property is appraised
at a higher value due to a variety of circumstances. Their property may have been appraised more recently
than others or different appraisal boards may use different criteria with which to value the property. Others
believe that property taxes are inherently unfair because they do not relate to income or wealth. A poorer
family may pay much more of their disposable income for property taxes than a wealthy family since
property taxes do not relate to income. If one makes the assumption that wealthier people should pay more
taxes, clearly property taxes cannot meet that standard of fairness.

a. False. The average tax rate is calculated by dividing the tax by the tax base. The tax base includes
only income amounts subject to tax. Accordingly, tax-exempt income would have no impact on the
taxpayer’s average tax rate. (See p. 1-9.)

b. False, the marginal tax rate of any rate structure is that percentage at which the next dollar added to
the tax base will be taxed. The tax base includes only income amounts subject to tax. Accordingly,
tax-exempt income would have no impact on the taxpayer’s marginal tax rate. (See p. 1-8.)

c¢. True. The taxpayer’s effective tax rate is computed by dividing the tax by the taxpayer’s total
economic income. Tax-exempt income would be included in the taxpayer’s economic income and
accordingly would cause the taxpayer’s effective tax rate to decrease. (See pp. 1-9 and 1-10.)

a. False. Sales tax are not progressive since a progressive tax structure is one in which an increasing
percentage rate is applied to increasing increments of the tax base. The sales tax percentage remains
constant at all volumes of sales for all income levels. (See p. 1-7.)

b. True. Sales taxes generally occupy a smaller percentage of total economic income as total economic
income rises. In this sense sales taxes are perceived to be regressive. (See p. 1-7.)

c. False, see answer “b” above. (See p. 1-7.)

d. True. A regressive tax is one in which a decreasing percentage rate is applied to increasing increments
of the tax base. No tax is structured in this way. (See p. 1-7.)

Presumably H&W’s marginal tax rate is approximately 40% and L&W’s marginal tax rate is 15%. Given
those assumptions, then it makes sense for H&W to buy the Indiana bonds but it would be foolish for
L&M to buy the Indiana bonds.

If H&W buy State of Indiana bonds, their interest income from the bonds is $60 annually, all of
which they keep since it is not subject to tax. If they buy AT&T bonds their interest income would be $80,
but they would pay federal tax of 40% on the bonds (40% x $80 or $32) and keep only $48 of the $80
they received. Hence they are better off by $12 if they buy State of Indiana bonds.

If L&W buy State of Indiana bonds they will earn $60 of interest and will keep all of it. If they buy
AT&T bonds they will earn $80 of interest and keep $68. They pay tax of $12 (15% x $80). Hence they
are better off by $8 ($68 — $60) if they buy the taxable AT&T bonds since they are in the lowest marginal
tax bracket.
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A tax expenditure is the estimated amount of revenue lost for failing to tax a particular item.

a.

&

o a0

b.

Yes, this is a tax expenditure because Congress is subsidizing a small business owner by allowing a
tax deduction for fuel.

Yes, this is a tax expenditure since Congress is subsidizing charities by making contributions to them
deductible.

This would not be a tax expenditure since revenue is not lost, but merely deferred for a period of time.
Yes, this is a tax expenditure since Congress is subsidizing owners of real estate.

Yes, this is a tax expenditure since the credit effectively subsidizing a particular kind of automobile.
Yes, this is a tax expenditure since the deduction is designed to subsidize home ownership.

Since administrative costs are less than through other forms of government financial assistance, this
tax expenditure would produce an advantage.

The fact that beneficiaries are readily identifiable would clearly be an advantage.

Presumably the limiting of a particular expenditure to those entitled to receive it would be the
advantage Congress intended.

The ready assessment of costs and budgetary effects is an advantage.

It is not clear whether the rise and fall of benefits without direct approval is an advantage or a
disadvantage. If this is what Congress intended than presumably it is an advantage.

Tax expenditures tend to be windfalls to all taxpayers even if some are not deserving. Consequently, a
targeted needy group may not receive the total benefits. Thus, this is a disadvantage.

Tax expenditures are made by specific tax law changes and as a result such expenditures introduce a
great deal of complexity into the tax system that otherwise would not exist.

The amount of M’s taxable gifts in 2009 is $74,000 computed as follows:

To son: To daughter:

Value of gift $50,000 Value of gift $50,000
Annual exclusion (13,000) Annual exclusion (13,000)
Taxable gift $37,000 Taxable gift $37,000
To niece:

Value of gift $ 10,000

Annual exclusion (13,000)

Taxable gift $ 0 Total taxable gifts = $74,000

The amount of M and her husband’s taxable gifts in 2009 is $48,000 computed as follows:

To son: To daughter:

Value of gift $ 50,000 Value of gift $ 50,000
Annual exclusion (26,000) Annual exclusion (26,000)
Taxable gift $ 24,000 Taxable gift $ 24,000
To niece:

Value of gift $ 10,000

Annual exclusion (26,000)

Taxable gift $ 0 Total taxable gifts = $48,000

(See Example 19 and p. 1-18.)
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1-27 a. Post-1976 taxable gifts are added to the taxable estate in arriving at the unified transfer tax at death.

b. Post-1976 gifts are added to the taxable estate and have the effect of increasing the rate at which the
unified transfer tax impacts upon the decedent’s taxable estate. This occurs because the addition of
post-1976 taxable gifts to the decedent’s taxable estate increases the amount of property taxed and
thus pushes the estate into a higher marginal tax bracket.

(See Exhibits 1-4 and 1-5 and pp. 1-13 and 1-17.)

1-28 The estate tax in 2009 is $3,483,000 determined as follows:

Gross estate

Cash $10,000,000
Stocks and bonds 700,000
Residence 800,000
Interest in partnership 350,000
Personal property 25,000
Life insurance 200,000
Total gross estate $12,075,000
Less
Claims against the estate
Mortgage (80,000)
Marital deduction
Stocks and bonds transferred to wife (700,000)
Charitable deduction
Cash to State University (50,000)
Taxable estate $11,245,000

Adjusted taxable gifts (taxable gifts made after 1976)
Gift to daughter (split gifts: $30,000 x 1/2 = $15,000) —
$10,000 (1995) 5,000
Total taxable transfers $11,250,000

Tentative tax on total transfers

$555,800 + 4,387,500 [45%(11,250,000 — 1,500,000 = 9,750,000)] $ 4,943,300
Unified credit in 2009 (1,455,800)
Estate tax liability $ 3,487,500

The insurance proceeds are included in the gross estate at their value at death because the taxpayer
retained the incidents of ownership (e.g., ability to designate the beneficiary).

Only the taxable portion of the gift to the daughter is added back to determine total taxable transfers.
It is added at its value as determined when originally made—not at the date of death value. The rule
requiring the addition of transfers made within three years of death to the gross estate generally has been
repealed except for life insurance and certain retained interests as provided for in § 2035.

Part of the gift is added to total taxable transfers in determining the tax. However, the whole unified
credit is used against the tax. (See pp. 1-14 through 1-18 and the examples and exhibits contained therein.)
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Answers to this question may differ depending on the particular law of the state you use.

a. False. Even though there is no Federal unified transfer tax due and owing, there may be a state inheritance
tax applicable on the transfer. Typically this is the case in those states that have inheritance taxes.

b. False. Generally the state inheritance tax will vary depending upon who the beneficiary is. Hence it is
generally not true that the state inheritance tax is the same regardless of whom he or she names as a
beneficiary.

c. False. State law probably provides a complete exemption only to spousal transfers. The federal unified
transfer tax provides no special exemption for transfers to children.

d. True. Through the use of the state estate tax credit, any inheritance tax paid by Bob’s estate may be
used to reduce any Federal estate tax his estate owes. State inheritance taxes are not deductions from
the gross estate.

FICA taxes paid on first salary of

$70,000 = $70,000 x 7.65% $5,355.00
FICA wages paid on second salary of

$50,000 = $50,000 x 7.65% _3.825.00

Total FICA taxes withheld $9,180.00

Less amount owed by E:
Social Security portion of tax
limited to total wages of

$106,800 x 6.2% = $6,621.60
MHI portion of tax on all wages
$120,000 x 1.45% = 1,740.00
= Total FICA due from E (8,361.60)
Excess FICA taxes paid by E $ 818.40

(See Example 23 and p. 1-20-1-21.)

In this case, excess FICA taxes have been paid since the total wages received by E exceed the $106,800
cap on wages subject to the social security tax in 2009. If excess FICA taxes are paid, the amount of E’s
refund or credit for the excess FICA taxes would not be affected by whether he was a full-time employee of
each employer for different periods of the year or a full-time employee of X and a part-time employee of Y
for the entire year. The key factors are (1) the amount of wages received for the year that are subject to the
social security portion of the FICA tax (a maximum of $106,800 in 2009) and (2) the amount subject to
the MHI portion (all wages). (See p. 1-20-1-21.)

For 2009, the social security portion of the self-employment tax rate is 12.4 percent, and the MHI portion
is 2.9 percent. These rates are twice the FICA tax rates imposed on an employee’s wages. In an effort to
provide some relief from this “doubling-up” effect, self-employed taxpayers are allowed (1) to reduce net
earnings from self-employment by one-half the combined 15.3 percent tax rate in arriving at each
component’s tax base, and (2) an income tax deduction for one-half the amount of self-employment taxes
actually paid. As illustrated in Example 25 on pp. 1-23 and 1-24 of the text, however, not all taxpayers
will benefit from the first of these relief measures.

In this case, H’s maximum earnings base subject to each component of the self-employment tax is
reduced by the wages earned as an employee. Thus, H’s self-employment tax is computed as follows:
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Social
Security
Maximum tax base $106,800
Less: Wages subject to FICA tax (78,000)
Reduced maximum tax base $ 28,800
Net earnings from self-employment $ 50,000
Subtract: 7.65% net earnings
from self-employment (3,825)
$ 46,175
Smaller of reduced maximum tax base $ 28,800
or amount determined above
Times: Social Security tax rate x12.4%
Tax on Social Security component $3,571.20
Social Security tax $3,571.20
Plus: MHI tax ($46,175 x 2.9%) 1,339.07
Equals: T’s self-employment tax $4,910.27

T will also have an income tax deduction of $2,455.14 (one-half of the $4,910.27 self-employment taxes
paid). (See Example 26 and p. 1-24.)

1-32 Such a move entails nontax factors, which in most cases are more important than tax considerations
(e.g., promotion, additional income, chance for additional responsibility, and chance for training not
available elsewhere). The tax environment of the move should be considered from both a Federal income
tax perspective and a state and local tax perspective.

* Is the taxpayer able to defer any gain on the sale of his current house by the purchase of another
house in the new state? Briefly touch on the basic elements of §§ 1034 and 121. (See Chapter 15.)

* Is the taxpayer completely compensated in case he must sell his current dwelling at a loss? Note
that the Internal Revenue Code does not provide authorization for a deductible loss in the case of
an economic loss on the sale of a domestic dwelling.

* Are the taxpayer’s moving expenses covered by his employer? If not, are they completely
deductible? Stress that a deductible expense does not mean that the taxpayer is made completely
whole just because the expense is deductible.

* Does the employer have a cost of living adjustment that will make the taxpayer whole in case the
new state has additional taxes that the old state did not have?

* The taxes that the taxpayer should look at in the new state include the state income tax, local
income tax, and such local taxes as real property taxes, sales taxes, and personal property taxes.

* All other things being equal, you should make certain that the taxpayer is advised of the real
impact on his life of a 20 percent increase in salary. For example, if the taxpayer is in the
28 percent bracket, then this increase will be an effective raise of between 14 and 15 percent in
compensation. This raise will be even less if the new state has an income tax. Many taxpayers
evaluate an offer without taking into consideration the impact of taxes. All too often, they find that
what they initially believed to be a sufficient increase to justify the move is insufficient after taxes.
Ultimately the taxpayer himself must determine whether the gains entailed in the move outweigh
the additional tax and nontax disadvantages.



